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MipP
[1]. Soit 7= [ & _

A. Uintégrale / peut se calculer par parties/The Integral / can be computed
by parts.

B. L'intégrale / peut se calculer par changement de variables/The Integral /
¢an be computed by some transformation.

C. Lintégrale / peut se calculer par substitution/The Integral / can be
computed by substitution,

D. Lintégrale / peut se calculer par addition/The Integral I can be computed
by addition.

E. Rien de ce qui précéde/ None of these

[2).1=
1 x+2 1 2 ) i x+2
A aretgZ= 24, B. —arcsin® 124, C. —arccos =4 ¢
N RN N AN

D. ?]5 arccotg%—z— +¢  E.Rien de ce aui précéde/ None of these
Vv

[3]. Soit z un nombre complexe non nul./ Let z be a non zero complex

number. Alors/Then Argl
Z
A, ~Argz + 2%k, ke Z B. Argz +2km ke 2 o1

~Argz+km, ke Z

Didrgrskn, ke E. Rien de ce qui précede/ None of these

Questions 4 - 9

[4]. Soit Q I'ensemble des nombres rationnels. On définit sur Q Ia loi de
composition interne = telle QUE x*y=x+y-xy, pour tout x et ydans Q./Let Q
be the set of rational numbers. Define the binary operation * on Q such
that x»y=x+ y+xy, for all wénd v in Q. Alors/Then

A. * est commutatiff+ is commutative B. * est non commutatif/s is non

commutative C. * est anti-commutatif/+ is anti-commutative

D.oxsp=—puy E. Rien de ce qui précede/ None of these
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[51.

A. * est associalif/+ is assiociative B. + st non assoclatif /+ is non

assiociative C. * est anti- associalif/+ is antl- asslociative

D.x»p'=pay! E. Rien de ce qui précode/ None of these

[6l. /

|,‘ - ’

L'élément neutre de * dans Q est/The identity olomiont for # In O is:

Al B.0 C.-1 D.2

E. Rien de ce qui précéde/ None of these.

{71.

L'inverse d'un élément o de Q est’The inverse of an element o of Oss:
[ | Z

A. T & =l D, -

l1-a l-a Gt ppy

E. Rien de ce qui précéde/ None of these

{2l
L'inverse de I'6lément -1 est/The inverse of the element -1 is:

A1 B.0 C.-1 D. n'existe pas/does not exist
E. Rien de ce qui précéde/ None of these

[9].

A. (Q, ) est un groupe/(Q, *) is a group

B. (Q, #) est un groupe abélien/(Q, =) is an abelian group
C. (Q, v) estun anneau/(Q, +) is a ring

D. (Q, #) est un anneau commutatif/(Q, #) is a commutative ring
E. Rien de ce qui précede/ None of these

[10].

intégrale d'une somme de fonctions est la somme des intégrales de ces
fonctions/ The integral of a sum of functions is the sum of the integrals of
these functions.

B. L'intégrale d’'un produit de fonctions est le produit des intégrales de ces
fonctions/ The integral of a product of functions is the product of the
integrals of these functions.

C. L'intégrale d'un rapport de fonctions est le rapport des intégrales de ces
fonctions/ The integral of a ratio of functions is the ratio of the integrals of
these functions..

D. L'intégrale d'une composée de fonctions est la composée des intégrales de
ces fonctions/ The integral of a composition of functions is the
compaosition of the integrals of these functions.

E. Rien de ce qui précéde/ None of these.

[11].
A. La dérivée d'une composée de fonctions est la composée des dérivées de

' ces fonctions/ The derivative of a composition of functions is the

' composition of the derivatives of these functions.

l B. La dérivée d'un produit de fonctions est le produit des dérivées de ces
fonctions/ The derivative of a product of functions is the product of the
derivatives of these functions.

C. La dérivée d'un rapport de fonctions est le rapport des dérivées de ces
fonctions/ The derivative of a ratio of functions is the ratio of the
derivatives of these functions.

D. La dérivéed'une somme de fonctions est la somme des dérivées de ces
fonctions/ The derivative.of a sum of functions is the sum of the
derivatives of thesefunctions.

E. Rien de ce qui précéde/ None of these.

[12]. Quand ces limites existent et sont finies ou infinies,/ When these limits

exist and are finite or infinite,
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A. La limite d’'une composée de fonctions en un point est la composée des
limites de ces fonctions en ce point/ The limit at any point of a composition
of functions is the composition of the limits of these functions at that
point.

B. La limite d’un produit de fonctions en un point est le produit des limites de
ces fonctions en ce poinii The fimit at any pointdf a product of functions is
the product of the limits of these functions at that/haint.

C. La limite d’'une somme de fonctions en un point est faSomme des limites de
ces fonctions en ce point/ The limit at any point of a sum of functions is the
sum of the limits of these functions at that point.

D. La limite d'un rapport de fonctions en un point est le rapport des Jfinites de
ces fonctions en ce point/ The fimit at any point of a ratio of functions,js
the ratio of the limits of these functions at that point.

E. Rien de ce qui précéde/ None of these.

[13]. Si/ If cos ' x :"’ alors / then sin™' x -

A L B. 3% 2% e
6 6 6 O

E. Rien de ce qui précéde/ None of these.

Questions 14 & 15

0, six<0
On donne | Given f(x) asinx, si0<x<nw
0, six>nm

[14]. / estune fonction de densité de probabilité d'une certaine variable
aleatoire X si/ / is a probability {(or a density) function of a given random

variable X if 4
A. 5 B.-5 C.05 D. 1,5

E. Rien de ce qui précéde/ None of these.

| 0, six<9
[15]. La fonction / The function F(x) - [0.5(1 -cosx), si0<x<x est/is

1, six>n

" A, la fonction dérivée de X7/ the derivative funcfion of X.

B. la fonction de probabilité de X/ the density funcfion of x|
C. la fonction cumulative de / the cumulative funcfion of x.
D. Ia fonction intégrale de/ the integral funcfion of X .

E. Rien de ce qui précéde/ None of these.

Questions 16 — 20

On donne les marices carrés d'ordre  suivantes/ Given the following a-

square matrixes :

i 1 {0 s i
0 1 ] |

X =]\. . I 0 ; 1 l
0 1 1 1}!

[16].

A. X peut étre obtenue de Y par permutations de lignes/ X can be obtained
from Y by a serie of line permutations.

B. X peut étre obtenue de ¥ par permutations de colonnes/ X can be obtained
from ¥ by a serie of colum permutations.

C..¥ peut éire obtenue de X par permutations de colonnes/ ¥ can be obtainad
from X bya serie of colum permutations.

D. X peut-éire obtenue de ¥ par addition de colonnes/ X can be cbtained
from Y by adding colum.

E. Rien de ce qui précéde/ None of these.

[17]. Det(X) =
A0 B.n c.1 B 0

E. Rien de ce qui précéde/ None of these.
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[18]. Det(¥) =

A0 B.n C.1 D.(-1)y :
. L [23]. (fogoh) =
E. Rien de ce qui précéde/ None of these. ’ &
A fogel B.(feg)el C.[(fog)on]xn
[19]. tr(y) = V D. [U".{e)’ oh}c I E. Rien de ce qui précéde/ None of these.
A0 B.n C.1 D. (#1)'» ‘
E. Rien de ce qui précéde/ None of these. 4
[24]. (f x g xh) =
[20]. tr()) A. f'xg'xh' B. (f'xgxh)+{/ =g xh)+(fxgxh')
A0 B.n C.1 D. (-'- | ) C. (_f Xg)’ X D. |:(f 5 g)r whixh'
E. Rien de ce qui précéde/ None of these.

E. Rien de ce qui précéde/ None of these.

[21]. La fonction/ If defined, the function log, ] - lorsqu’elle est définie a

s [25]. [(fog)+n] =
pour inverso/ has inverse A (flog)+k B. (flog)xg)t I C. ng) i
! ] ! - ; -
' : x A(fog) xh|xk E. Rien de ce qui précéde/ None of these.
] 42 (1Y I+2 ' Iy «
Iil_}] H-(--)
2 2
E. Rien de ce qui précéde/ None of these. J26]. [(/ o g)xh] =
- ’ , i
Ao g xh B. (fog) xi' C. [(frog)xh+(foglxh
[22]. Soit la fonction/Given the function :z - x’ . Alors/Then D. ((f ogrng)+ I E. Rien de ce qui précéde/ None of these.
s ,) Dz B, o'z =_a_2i C. !9_?_2_ _ az_zm
axdy ey ox r’)y &t Sy ) oy
: [27). (£og)" =
L £ 4 o i . - S 1 o ) . -1 5 =1
D. T E. Rien de ce qui précéde/ None of these. '| A flog™ 8. ) 'ag C.g'of B.g'lef

E. Rien de ce qui précede/ None of these.
Questions 23 — 30

Soient /,g.h 3 fonctions dérivables et inversibles. /* et ' désignent (28} (rxg)’ =
: _ - - S
respectivement la dérivée et I'nverse de f/ Let /.o i be 3 differentiable A fxg’! B. f7xg C.g'xf D, g%

and invertible fonctions. /" and /' are respectively the derivative and

6




E. Rien de ce qui précéde/ None of these.

[29]. (fogoh)' =

A, flrogloh” B. flo(goh)” R
D .rf gyl okt E. Rien de ce qui précéde/ None of these.
! »
130}, [(rogeny']= i i
Lo
A [(fogenT B. (f) (g Yotk C.[hteg o s

D. [ ] ol E. Rien de ce qui précéte/ None of these.

A - B. Logl C.1 D@

E. Rien de ce qui précéde/ None of these.

W

{ cosa sina 0
[32]. !t—nsi:!.o: cosa 0}

o 0 1
(cosnx  sinna 0 cosna”  sina” l}"l
cosng
i —~sinpa”  cosna” 0
A, | —sinna  cosna {)) B. | -sinna” cosna | l
'L 0 01y 0 0
cosa”  sina” {J] {1 0 0)
" " ]
C.|-sing” cosa” 0 | D. l O 1
00 1
) 0o 1 |
t b J

E. Kien de ce qui précéde/ None of these.

o

yestions 33 — 35

AT
Soient/Given the functions f(x) ZLZ ] NS g ~ i

~(2n)!

www.tousl | ONCOUrS.| ﬁfé?s: Then

[33] /()=
A. —sinx B. cosx C. tanx
E. Rien de ce qui précéde/ None of these

[34] ¢'(») =
A. —sinx B. f(x) C.-f(x)

E. Rien de ce qui précéde/ None of these

[38] [/ (ods =

A, —sinx B. g(x) C. - g(x)

E. Rien de ce qui précéde/ None of these

Questions 36 — 38

On donne/Given x* - xy+ 1% =1. Alors/Then
[36]. »'. =

-y —Jx- —2x—
A -y g T2x-=¥ ¢. ==
x=2y x+2y x=2y

E. Rien de ce gui précéde/ None of these

G -6 -6

g "GF CGeof

E. Rien de ce qui précédel None of these

381y, =

54 £ 54

i meRlier . G220
{x— 2y) {.r -2y {.\ 2y

E. Rien de ce qui précéde/ None of these

D. chx

D. chx

D. chx

p. 2ty
x42y

5

g

| o
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Giuestions 39 — 44

SoitlLet T(z)=iz+v2~i,ollwhere i>=-1 et/and z un nombre complexe/a

complex number.

[38]. Siflf |z|=+/2 et/and arg(z) = j alorsithen T'(z) est/is

A, imaginaire pur/ a pure complex B.€ R’ C. 1239
4

b.-=f=af< E. Rien de ce qui précéde/ Nofe of these

[40]. L'équation/The equation T(z)=i-22 a pour solutiorfhas solution

A. z=iv2 B. z=-1+iV2 C. =i3 DL 2
E. Rien de ce qui précéde/ None of these

{41]. U'ensemble des points/The set of points M(z) tels que/such that
[T(z)]=1 estlefis the

A. cercle de cenire/circle with center (A 1,\-"?.) et de rayon/and radius 1

B. cercle de centre/circle with center fuJE] et de rayon/and radius 1

C. droite de pente/straight line with siope V2 passant par ie pointpassing
through (-1.2)

D. droite de pente/straight line with slope - V2 passant par le pointpassing
through {~1.v2)

E. Rien de ce qui précéde/ None of these

{42]. La solution de I'équation/The solution of the equation T(z) = z estfis

1 {1 fa Y
=142 [T+ V2

- )
A.:;melaﬂlk\‘i B.z=— " +i — |

19

ri

gn de ce qui précéde/ None of these

[43]. L'expression analytique de T comme transformation dans le plan est / An
analytical expression for T as a plane transformation is

A Jxru"y+ﬁ B x':_vi-\"’i C { x’=x_1___ |
) i y=x-1 T oyex-a Cly=-ye2
¥=x+1 . pecs oy
Doy E. Rien de ce qui précéde/ None of these
y=y-v2
[44].

A. T est une homothétie affine/ T is an affine homothecy

B. T est une rotation/ T is a rotation

C. T est une translation affine/ T is an affine transiation

D. T est une rotation suivie d’'une translation/ T is a rotation composed bya
translation

E. Rien de ce qui précéde/ None of these

[45] Soit/Let f(x) une fonction monotone continue d'inverse/be a

continuous monotonuous function with inverse /'(x). On

suppose/Assume J' f{x)dx = F(x)+C . Alors/Then
A @ =2 () - o)+ C

B. [ (®ds =3 () + Pl (x))+ €

C. [/ dc = 5T () + £ (")

0. [ £ e =5 G F(F ()

E. Rien de ce qui précéde/ None of these

Questions 46 — 51




On donne les graphes suivants/Given the following graphs. La surface WWW.TOUSI€SCONCOUrSi0fQ, ore des solutions réelies de Iéquation/ The number of real solutions

hachurée est / The shaded area is :

¢

o 1 x
Fig. 1 Fig. 2 Fig. 3
[48]. Fig. 1
A }[(—x3 s2x+ ) - Vnfo+ i[(-x2 +2x+3) - 2x- Dl
1] 1
B. i[(—x2 +2r43)-¥x ~Qr -l c. j[(---,\': +2x+3)-Vx - @x -l
1] [1]
D. j[{—x‘ +2x+ 3}—%}’;]& E. Rien de ce qui précéde/ None of these
]
[47]. Fig. 2
o wix) d 75 d i)
A, fafy !d_x B. ja{v jf(x,y}dx C. jdx If{x,y)dy
¢ min ¢ gl ¢ afx
D. j‘dxﬁj;y E. Rien de ce qui précéde/ None of these
(v
[48]. Fig.3
A, jdx}dy B. }rirj[({v C. _id\’jx)dy D. j ‘I[xzafydx
] L] 1 a o 0 [}

E. Rien de ce qui précéde/ None of these

[49). Fig. 1

fo the equation x> +2x+3-Vx =0 est/ is
A D B.1 C.2 D.3
E. Rien de ce qui précéde/ None of these '

[80]. Fig.1

Le nombre des solutions réelies de 'équation/ The number of real solutions
fo the equation -x* +2x+3-2x+1=0 est/ is

A.Q B.1 C.2 D.3

E. Rien de ce qui précéde/ None of these

{51]. Fig. 1

Le nombre des solutions réelles de I'équation/ The number of real solutions
fo the equation 2x-1-Yx =0 est/ is

A.O B:1 c.2 D.3

E. Rien de ce qui précéde/ None of these

3x—35 T’?

Ix+1,

52]. Iim(

Xy

Al B.-3 C.3 D.o
E:. Rien de ce qui précéde/ None of these

Questicns §3 ~ 56

Soient 4, Bdes événements et 4 I'événement contraire @ A/ Let 4, B be
some events and 4 the opposite event of 4. Si p(X) désigne la probabilité
de 'événement X J If p(X) is the probability of a certain event X,
alors/then

[53].

A. p(d)+p(d)=1 B. p(4)+p(4)=0 C. p(4)+p(A)=~1

e,
L



|l
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D. p(A) = p(d)= % E. Rien de ce qui précéde/ None of these
[54].
A. p(And)=1 B. p(4n4)=0 C. p(AuA)=-1
D. p(aud)=0 E. Rien de ce qui p_r‘écéd’e! None of these
’
[55].
A. p(Ar B)= p(A)p(B) B. p(4uB)= p(A)+ p(B) C. plAuB)=1
D. p(AuB)=0 E. Rien de ce qui précéde/'None of these

[56].
A. p(AnB)= p(A)p(B) B. p(4u B) = p(A) - p(B)
C. p(An B) = p(4)- p(B) D. p(4wB)=0

E. Rien de ce qui précéde/ None of these

Py
[57]. La suite définie par/The sequence defined by U, = ;’:iﬁ

h
A. converge versiconverges to 2 B. diverge vers/diverges to + «

C. diverge vers/diverges to - « D. converge vers 1/converges to

1 E. Rien de ce qui précéde/ None of these

[58]. La suite définie par/The sequence defined by U, =V , ol V, converge
vers J et o est un réeliwhere V,, converges toland a is a real. Alors/Then U,

A. converge/converges B. diverge vers/diverges to +

C. diverge vers/diverges to - « D. converge vers u/converges to o.

E. Rien de ce qui précéde/ None of these

[59]. Le point A7(-2,}) par rapport au cercle x’ +y’ =2 est/The point M(-2,1)

with respect to the circle x* +y* =2 is

14

B. a l'intérieur du cerclefinside the circle
C. a l'extérieur du cercle/outside the circle
D. hors du planfoff the plane

E. Rien de ce qui précéde/ None of these

[60]. L'équation suivante /The following equation x” + y* +8x~4y-5=0
décrit/describes

A un cercle/a circle B. une sphére/a sphere

C. une ellipse/an ellipse D. une hyperbole/a hyperbola

E. Rien de ce qui précéde/ None of these

[61]. L'équation différentielle y'=xp* a pour solution (ol ¢ est une
constante)/The solution of the differential equation ,'= x’, where cis a

constant, is

-~

5 . -
A y=-—— B. y=-"+c C.y=- 2
x+c x° X’ +e
2
D.y=-5+¢ E. Rien de ce qui précéde/ None of these

Questions 62 - 67

f/désigne I'espace vectoriel réel des polynémes de degré inférieur ou égal

41E is the real vector space of polynomials of degree less or equal to 4.

[62]
A.dimE =4 B.dimE =5 C.dimE =3
D.dimE =1 E. Rien de ce qui précéde/ None of these

[63] Lequel des sous-ensémbles ci-dessous n'est-il pas un sous-espace

vectoriel de £ 7 /Which of the following subsets is not a subspace of £7

A. g, +ax+ax*+ax’ +ax'a e Ra, = o}.




B. g, +ax+ ax?+ax’ +ax:g €R.a, = r}
C. {aa +tax+axt+ax’ +axt :a, € R,a, =g, =0}
D. {uu +a1x+a3xz+a,x3 +a4x‘ ta, € R,a, +a, _.243 -a, =:’)}

E. Rien de ce qui précéde/None of these

[64] Le sous-espace vectoriel /The vector subspace

F= {an taxtaxitax +axtia e R.a, +a, —2a, “a, =3} est de dimension/has
dimension

A 4 B.3 c.2 D.1

E£. Rien de ce qui précéde! None of these

[65]

A. La famille/The system F = {1, X, %2, .\:S,x"} est une base de £ car Card /*

= 5/is a basis of £ since Card F =&,

B. La famille/The system F' = {l,x, x"‘,xix“} est une base de E car Card £

= 4fis a basis of £ since Card L =5,

C. La famiile/The system F = {l,x, x3, 23 14 } n'est pas une base defis not a

basisof £.

D. La famille/The system F = {i,x,xz,f g i ne peut étre une base
delcannot be a basis of £ .
E. Rien de ce qui précédel None of these

[66] On donne la famille G = {i+x%,x+x*,x%,x", x*+ x*' }/Given the system
G= {1 +xixax’ 22 xt eyt } Alors/then

A. G est fiee/G is Linearly Dependent

B. G est non-licelG is free

C. G n'est pas libre/G is not Linearly Independent

D. G est une base/G is a basis

E. Rien de ce qui précéde/ None of these

i6
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{67] Sachant que G est une base de ElSince Gis a basis of E. Soit/Let
_2+3x=a(l+x)+bx+x°)+ext+dr’ +e(x*+x*). Alors/Then

A a=-2b=3¢c=2d=-3,e=0

B a=-2b=3c=-2,d=3,e=0
C.a=-2,b=3,¢c=2,d=-3,e=1

D.a=2,b=3c=2,d=3,e=0
E.

Rien de ce qui précéde/ None of these

[68] La fonction ; définie sur R pariThe function f defined on R by

(x) jﬁﬂ) ir‘lg'?__ﬁ’x#g est continue sur R sifis continuous on £ if 1=
f(x)= [ . X el
Al B. 1 C.2 D. -1

"8

E. Rien de ce qui précéde/ None of these

Questions 63 - 71 ‘ ' »
Le début du développement limité & Fordre n des fonctions suivantes au point

! er n of the following
x, est/The first step of the Taylor's formula of order u

functions to the point x, is

Jx+2-2 e i
NS TS = 2n=
g2l /(= b o (BT o
3 5 .
2l e
A -2+(x-2) B. -2+(x~2) C. e

D Aol (x=2) E. Rien de ce qui précéde/ None of these
PN A

[70] f(x)=¢"sinx , x,=0, n=3

o5 N
Kos-itad i Bl wd o
:



1 3 4 .
ooy O R MO D. N'existe pas/Does not exist.
6 30

E. Rien de ce qui précéde/ None of these

[71] f(x)= Aresinx , x, =0, n=5

2 4 3
X X X X
Sl Pl e, B L
A.1+2+4! B. r+6 5
’
2 A -
B et D. N'existe pas/Doesrnot exist.
2 24

E. Rien de ce qui précéda/ None of these

[72] Laquelle des fonctions ci-dessous appartient au sous-esgace vectoriel
engendré par les fonctions/Which of the following functions belong to the

subspace generated by the functions f(x)= sin” x, g(x) =cos’ x ?

A. cos2x B.1 C. sinx D. 3-x%.

E. Rien de ce qui précéde/ None of these

[73] Une variable aléatoire qui prend des valeurs d’un nombre fini cu d'un
nombre infini dénombrable est dite/A random variable which takes values
on a finite or infinite countable set is said to be

A. discrete B. non discrete C. continue/continuous

D. discontinue/discontinuous
E. Rien de ce qui précéde/ None of these

[74] Soit/Let I = j [(x* + y")dxdy ollwhere

D={x)#(©00:y20x>+y* -x20 }Alors/Then /=

m i n D. 2%
Al T B. % C. 5 T

E. Rien de ce qui précéde/ None of these

18
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Sile temps d'attente T (en minute) avant le service du repas dans un
restaurant universitaire est une variable aléatoire de densité/if the waiting
time T (in minutes) before one is served lunch at a university restaurant

=

is a continuous random variable with density £() - L Tasy

able 4 alors/then
0, ailleurs
[75] La moyenne de T est/The mean of T equals to
1
A B. 4 C.3 D. 3‘
E. Rien de ce qui précéde/ None of these
[76] La variance de T est/The variance of T equals to
A. 16 B. 4 g2 D. 1

4
E. Rien de ce qui précéde/ None of these

[77] L’écart type de T est/The standart deviation of T equals to

A. 16 B. 4 c.3
"4 0.1

E. Rien de ce qui précéde/ None of these

[78] La &&rie fonctionelle S X ' i
elle >’ 3 converge dans l'intervalle /The functional

=)

5 wH
. x)
series Z[E ) converges in the interval
=l

A [-33 B. }-33 C. [-33] D. }-33]
E. Rien de ce qui précédefNone of these

19
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w

[79] La série fonctionnelle Z(%} a pour somme /The functional series

n=0t
i(i) has sum
n=0 2

A, s B ot &t D: ——
2-x 2
E. Rien de ce qui précéde/ None of these P

[80] Pour/For |x| < 1la serie/The series 1+2x” +---+mx" convérge vers
fconverges to

* 1 -1
A. _x_z B. - Lo B ey &
1-x (1-x) {1-x) (1-x)

E. Rien de ce qui précéde/ None of these

[81] La moyenne arithmétique de 5 nombres est 25. Aprés élimination d'un
des nombres, la moyenne des nombres restant est 31. Quel nombre a-t-il été
éliminé ?/The average (arithmetic mean) of five number is 25. After one of
the numbers have been removed, the average of the remaining numbers
is 31. What number has been removed?

A1 B.6 cC. 11 D. 15

E. Rien de ce qui précéde/ None of these

[82]. La solution de I'équation différentielie/The solution of the differential

d’y _dy

equation dx—;+2 +y =0 vérifiant/such that y(0)=1 et/and ,'(0)=1 estfis :

dx
A, 2xe™” B. e*(1+2x) C. e*(1-2x) D. e*(1+2x)
E. Rien de ce qui précéde/ None of these

f u, =2

[83]. La suite définie par/The sequence given by ] rorsla. ) W
u, = Logiu, L Vn>

A. est définiefis defined V n e N

B. est définie jusqu'a/is defined up to u,.
C. n'est jamais définie/is never defined
D. est définie jusqu’alis defined up to u,
E. Rien de ce qui précede/ None of these

. oo i =1 : 35
[84]. La série/The series ) — converge si/converges if
n

n=i

A ax>l B. a=1 C.a-0 D.a<1
E. Rien de ce qui précede/ None of these

[85). Siflf F(x) = [e'dr, alorsithen F'(x) -

o
A. Logx B. ¢ C.e -1 D. " +1

E. Rien de ce qui précede/ None of these

Questions 86 & 87
On donne I'équation homogene/Given the homogenouos equation

' x'-2x=0.
[86]. La solution générale est/The general solution is:

X

A, x()=ce +ce™ B. x(t)=ce' —c,e™ C. x(tf) =ce +cue

D@ =cie™’ +c,e™ E. Rien de ce qui précéde/ None of these

[871. Une solution particuliére satisfaisant/A partial solution satisfying
0 =1 etland £'(0) =2 eslis:

4 |
A =T -ze¥ ) B x=Te s le
|

4 i
C.x()y==¢" ="
3 © 3 3

D. x() = ge"’ - %e‘*’ E. Rien de ce qui précede/ None of these

4

[88]. Les fonctions/The functions ; définies dans le pian (OX7Y)/defined in

the piane(OXY) telles que/such that
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A =2x—y et A =x-2y
Ox dy
sont données par/are given by :

2
2_‘ 2 " _x?'_. y..y +c
Al x2+xy+y2 +c B. x" —xy+y +c Cc X 4

; : i porécéde/ None of these
D. x2+2xy+y° +c¢ E. Rien de ce qut gece

’
100) 4
[89]. On poselGiven y = X shx. Alorsthen plU%) 4

A. xshx—100chx B. xshx+100chx C. xchx +100shx

D. xchx—100shx E. Rien de ce qui précéde/None of thgse

. ion of
[20] L‘équation de la tangente au point M (i,l} de la courbe/ The equatio

the tangent at M(L,1) for the curve xy+Iny =1 estiis
B.x+2y-3=0 C. —x+2y+3=0

E. Rien de ce qui précéde/ None of these

A x—-2y-3=0
D. x-2y+3=0

ion of
[91] L'équation de la normale au point M (I,l) de la courbe/ The equation

the normal at M(1,1) for the curve xy +In y =1 estiis

A 2x-y-1=0 B.2x+y—-1=0 C. -2x-y+1=0

D, x+2y+3=0 E. Rien de ce qui précéde/ None of these

[ i N
[92]. La relation/The refation R définit dans N x N par/defined on N x

by xRy < xy=x estlis
B. commutative C. symeétrique

E. Rien de ce qui précéde/ None of these

A. réflexive
D. antisymétrique

. o (__1)?! )
{93] La série/The series ) —->— estfis

n=t VH

A. ahsolument convergente/converges absolutely

22

B. absolument divergente/diverges absolutely

C. pas absolument convergente/not absolutely convergent
D. pas absolument divergente/not absolutely divergent

E. Rien de ce qui précéde/ None of these

. . o n
[94] La série / The series Z:l’_’

=]

A. diverge d'aprés le test de D'Alembert/is divergent on the basis of the
D’Alembert’s test

B. diverge d’aprés le test de Cauchyt/is divergent on the basis of the
Cauchy’s test

C. converge d'aprés le test de D’Alembert/is convergent on the basis of
D’Alembert’s test

D. converge d’'aprés le test de Cauchylis convergent on the basis of the
Cauchy’s test

E. Rien de ce qui précéde/ None of thiese

Questions 95 & 96

Soit f* une transformation linéaire de R’ dans R’ définie pariLet f bea
given linear transformation of R> defined by

ey =Qx+my+22y 1 22x 4 v+z), meR
[35] Leynoyau de /" noté/The kernel of / noted ker f
A. estindépendant de m /does not depend of m B. =p
C. = OIR3 D. = {(1’1’—1)’(_ I"]"_l)}
E. Rien de ce qui précélde/ None of these

[96]
A. f estinjective/ f is injective

surjective

B. / estsurjective/ f is
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C. f estbijective/ / is bijective D. / n'est pas injective/ f is not

injective E. Rien de ce qui précéde/ None of these

2- 2, si x>0 .
[97]. La fonction/The function f (x)=4", & :,x estfis
x°-Xsio<(
V4
A. continue su R¥continuous on R?
B. continue en (0,0)/continuous on {0,0)
C. discontinue en (0,0)/not continuous on (0,0)
D. dérivable en (0,0)/differentiable on (0,0)

E. Rien de ce qui précéde/ None of these

[98]. Sifif u = x” + 2xp + 3 alorsithen

éz_u_ﬂ_azu B 0%u B _62u c 8%u _a_z_zi
- Oxdy  Byox T xdy  @yox Coaxdy B’
2 ~2
D. a_u_ =25 E. Rien de ce qui précéde/ None of these
Xy oy

[98]. La surface du triangle de sommets/The area of the triangle with
vertices P(2,-1,3), O(-5,1,7) et/and R(6,1,3) est égal a/is equal to :
3151 g WSt 21

Rt C. 2= D. 3101
4 2

E. Rien de ce qui précéde/ None of these

[100]. On pose/Let u=-~ . Alors/Then

y
dx — dx — ydy dx — yd)
A du= -}i—i—;@- B. du = I—{—q—yd}‘ C. du= i——EZX
y P X
D. du = &r%xdy E. Rien de ce qui précéde/ None of these
X
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